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94) oIRET TfOT oIRETaRI&ToT

HERTY TR BRIFRMESIIS v FIHAR Iared] Jefedadar uRumM BRI U 3ol fad
fommmeft g R fRfam w07 wren smawad oM ?
q) FEm g¢ ?) Fm ¥ 3) Fm 90 g) e 9

According to which rule in the Maharashtra Government Rules of Procedure, every order affecting
the economy of the state must be cleared with the Finance Department prior consideration and
regulation?

1) Rule 48 2) Rule 49 3) Rule 10 4) Rule 12

et et Sredld AT fbal TRTaresT (SR SIEbrHrel UIRAehId IR eles) UTRIhIY
(ot ARt &) AT oot weRidh fammeT il sritreRret mafer fach amg 2

9) B9 Y4.00 DI TWid ) TR 94.00 PICT TWid

3) I 9.00 DI WA ¥) TR 90.00 PICT TWid

In case of non-recurring expenditure, what is the limit of financial authority of the administrative
department to give administrative (subject to financial sanction) approval of the plan or proposal
(excluding administrative approval of building construction)?

1) Upto Rs.5.00 Crores 2) Upto Rs.15.00 Crores

3) Upto Rs.1.00 Crore 4) Upto Rs.10.00 Crore

T ST TSI PT AT fieass a1ffies Icu=l T 3,00,000 37, N <X dIf¥h 90% IRIATT
AR Wisael! Jod ol RIe ?

q9) 3,00,000 Q) 33,00,000 3) 30,00,000 ¥) 3,30,000

The net annual income from a property deducting all outgoingsis ¥ 3,00,000. What would be the

capitalized value of the property, if the rate of interest is 10% per annum ?
1) T 3,00,000 2) % 33,00,000 3) 230,00,000 4) 73,30,000

anfor RyeeRiel R SRy ................ T ST el ST,
9) 0% Q) 4% 3) % 8) 90%
If cement and steel are supplied by the Department and not by the contractor, then the percentage

of profit on steel and cement in Rate Analysis is deducted by ................
1) 20% 2) 15% 3) 25% 4) 10%

AT 95 Jed 90 ARG . AR, HieTHd S-S 90 Y Jaid U= 30T Te Bhy e 9 Tig 30T
SRICIRT & JUHRE! T geb Hed WIR Hed YT, (AR FoUTal BRIRT JEId ORT).

9) ¥-& oG Q) 4.8 g 3) 8.0 A () §.0 G

Find out the book value, after 6 years of an asset costing ¥ 10 lakh originally, assuming 10 years
as life of the asset and the scrap value of ¥ 1 lakh. (Assume straight line depreciation) Select the

correct option.
1) T 4-6 lakh 2) ¥ 5.4 1akh 3) T 4.0lakh 4) % 6.0 lakh
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WIABUDR! DIV AL HRATT BleheiRdT AT Jed Ihid Mg ?
9) BlheEl ANIIT FSRIET PRIGS U auET IR,

R) WipoEl AT rege FYhl SloaHd LTe HRa.
3) BFBEl A SHaddd UERT I fags .

Q) PP IAdT ITINT T AT AT

Which of the following statements is incorrect about Public Accounts Committee of India?

1) The term of office of the members of the Public Accounts Committee is five years.

2) The Chairman of the Public Accounts Committee is appointed by the Speaker of the Lok
Sabha.

3) Fifteen members are elected from the Lok Sabha in the Public Accounts Committee.

4) The Public Accounts Committee consists of seven members of the Rajya Sabha.

fAUTrearea BlaawEl AfdEEd Jeloun! I faur sfier.

37) SlpNal I TR ST GURT ASamaT FHEeT 3RAal.

§) I AN &% g FRiEd g ITakis ARIAEIRIed JiedT TgdTerd ey At aRfFRYemr #=d.
P) T AT foRiT S d ITaRIS S@TURIET 3TgdTeaid RIS v,

3) ISITT ARSI SRETfdaRt g TeNie FRiFd T HelaaRied Jral Fgdio quRid.

gt IR :

q) eh 3T, 9 B ) FHITD

3)FHT, FTS ¥) &9 fau A smed

Identify the correct statement among the following regarding the Public Accounts Committee of
the Legislature.

A) The Public Accounts Committee consists of a maximum of fifteen members.

B) The said committee inspects the Appropriation Accounts of the States and the reports of the
Comptroller and Auditor General thereon.

C) Monitors the financial accounts of the State Government and the audit reports thereon.

D) Examines the accounts of the State Corporation and the reports of the Comptroller and Auditor
General thereon.

Answer options :

1)A, B and C only 2) B and C only

3) B, Cand D only 4) All the statements are correct

. 1. . (AT AR oft) 9, 9%¢9 T H R(39) TR Fafea me ... T FATIY B
9) AT ARG RRT ?) T Fgfad

3) P g 8) UG

m. no Sec. As per rule 9(37) of the (General Conditions of Service) Rules, 1981, the pension
includes ...........

1) Encashment of Leave 2) Sickness Pension

3) Family Pension 4) Gratuity
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IRTPRT HHEIR ey Fifohieh s TR el fAfE aTe SHedT HoR RN 3Mehed daHT]
DI FRUIATA ?

9) fa9y a9 Q) YR I 3) afthep A= ¥) faosedt

What is the salary sanctioned to a government employee on account of specific increase in duties

and special duties?
1) Special pay 2) Prospective pay 3) Personal pay 4) Financial benefits

HRTRIGT QTRAh I AT e Aol Tfiae aTeriTe ST T Jaiaudh! hivMens 3Tfae
PRI S0 o N ISThRI Sa1a FgOral VIR T,

q) fawmTR W Q) HI. IJUTH

3) AT = fohar enfeandt faery favmma yuRt g5t /Jrsaw=t ®) AT JeEgEA

If a backward class government employee wants to report regarding his service, he should report
to one of the following so that it cannot be called political pressure.

1) Head of Department

2) Hon. Governor

3) Minister/Minister of State in-charge of Social Justice or Tribal Development Department
4) Hon. Chief Minister

q. 9. 9 (9T FRATRT orcf) R, 9%¢ 9 =1 o R(3€) HEY ... = IR T ST IR

q) fFafea Q) Jafchd aad 3) aad ) ST
m. no Rule 9(36) of Sec (General Conditions of Service) Rules, 1981 defines ..........
1) Pension 2) Personal pay 3) Salary 4) Leave pay

HERIY - BRI Ufge! SRRl TR arfuiicge ifiepraredn Figaedr, IS s vy
PV RIS T ST AT 3T ?

q) fox fawm R) fRIST fasmT

3) M Y faymr ¥) BT PIoTATEr TRl

As per First Schedule of Maharashtra-Government Rules of Procedure, which department has
been assigned the matter of appointment, leave etc. of commercial officers?

1) Finance Department 2) Planning Department

3) General Administration Department 4) None of these

WSISUDT DI U™ R_eR M8 ?

37) TP FHAR! gl HUIR ATE O QUIR AT,

q) ARTHRI PHAR BRI PHRIS 9¢ IIRATAIG JSAT ABRIF SAUR TR

®) TRIDIT PHAR AT BRITGA BIBNIEaR TR 81 - U e arefiq | fdhar
T TaPur gERdT B PN,

gt ST

9) ®h 3T ) B T 3) ¥ a’®d 8) ‘ef",'9" g '®’
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Which of the following statements is correct?

A) Government employees will neither take dowry nor pay.

B) A Government employee shall not employ children below 18 years of age for domestic work.

C) A Government servant shall perform voluntary work of a social or religious nature subject to
the condition that it does not affect his official duties.

Answer options :

1) Only A 2)Only B 3)AandC 4)A,BandC

ISt P R gha M 2

q) AR FHAR! PIURATE ARALY R [AROR ATt

Q) TN FHARY PIVATE hIBT AT U I UR ATRY

3) IRIPRT PHART ddT Uoic FgUT DI PRUTR Tal,

¥) IRIDIT PHATITT T AT GSRIT AIBRIST MUH dd T AR AT

Which of the following statements is incorrect?

1) Government servant shall not invest money in any share

2) Government servant shall not lend money to any person on interest
3) Government servant shall not act as an agent of the bank.

4) A Government servant cannot advance salary to his private servant

U AR U

q) AMIPR fIEROIAT SRIdeIeT Th R) 3G fhH I

3) fIFGR T T 8) a1 Pratgl el
Mesne profits means :

1) profit shown in income tax return 2) very minimum profit
3) profit earned by mission 4) none of the above
ABC fa%eivurciiel swededl daiel HDFEH ............ TR oTeTRT ST

q) ITHRTE o R) GPFRIT glerae]

3) TR 8) aieiD! Brélel el
The inventory control mechanism in ABC analysis is based on ............
1) Value of consumption 2) Movement from store
3) Necessity 4) None of the above

......... ST I PRUTAIS! SUGeh ATE S WR AT ReSrelt Alched i e qHe erd.

9) Rt =1 ) ST 99 ST TR

3) QA (9) 3T (R) 8) aieTih P I

.......... scheme is useful for most of the purposes where the loads and continuity of supply justify
additional costs.

1) Single bus 2) Double bus double breaker

3) Both (1) and (2) 4) None of the above
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Yehed HeIehTed] Faceacred [Ieeisurmes) Wictictidh! HhIvfaT Jeeiar FHael gl ?
31) faem™ wreaefiven dremaeit @) o g,

q) UeheUTeA] X< I Aar fohdined seat (are fohar 1e).

P) QAT FRE 98,

) o 37T uges AT IedTed UTdwid Seal.

3) UDHIRAS! SR dheledl TG e,

g IR :

9 I § @D 3
) d § T ;A
3) 8§ 9 7 @

¥) 3 9 F S

The sensitivity analysis of the project appraisal includes which of the following points ?
a) Consideration of the length of the period over the existing one.

b) Changes (increase or decrease) in prices of goods and services of the project.

c¢) Changes in the levels of cost.

d) Changes in the yield levels of crops and livestock.

e) Amount of subsidy released for project.

Answer options :

1) a b c e
2) ¢ e d a
3) d b a c
4) e b a d

FRIThBIF oR-TreaT AT TRaredl T, WTeticludh! PIvAT FeeHe SRISR ATal ?

a) TIRIThHT eRgP™ IM ST g hel 3Mg AT HRYT TG

b) PRI-IR~T HH Dol ST AT MTTID TIRT e 2ieh T deft STl

¢) T fhrciar aRom axom=r d arfier F9aer e duefieldr auie del Tifeo.

d) ARG PR TR FfEE Pbel Ifgoid.

i SR :

9) Fh (a) ?) Fh (b) 3) Beh (b) MMM (¢)  8) Heicht FrlE el
In view of the general principles of specification writing, which of the following statemenus
islare not correct ?

a) The specification writer should give reasons for what he specifies.

b) Cross-references should be minimized, and only titles be referred, if need be.

c) All items affecting the cost of the work should be included and described in detail.

d) Commercial sizes should be specified as far as possible.

Answer options :
1) Only (a) 2) Only (b) 3) Only(b) and (c) 4) None of the above
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TATAIDT P Tgd & UReHe Hreuardt s ugd ATal ?

q) a1fen goRclt fhaT g BigT Q) fleYr & 3igeT

3) gl ST ¥) a1 e ugd
Which of the following is not an approximate method of Estimate ?

1) Annual Repair or Maintenance Estimate 2) Plinth Area Estimate
3) Cubical Content Estimate 4) Service Unit Method

FIHH SUBRU HIeTh M7 Irctauar=lt fhia Avamardt @refieidh! v STeiam JHAT R ?

a) oI T b) T &

C) TEHIS ST oA W@ d) ERIRT

g IR :

) Rt T4 ) Wh (a) 3T (b)

3) W (a), (b) =T (c) 8) Wh (a), (b) 30T (d)

Which of the following are the items to be included for computing the cost of owning and operating
construction equipment ?

a) Running costs b) Investment costs

c¢) Cost of maintenance and repairs d) Depreciation

Answer options :

1) All of the above 2) Only (a) and (b) 3) Only (a), (b) and (c) 4) Only (a), (b) and (d)

AT Heihral Wiefiel Jegl ATl

q) fafdy o= geaiad R) Wi fAfTa ol
3) @i fehaT TR0 SAUARATST &M ¥) R fagetyor
The following 1s not a purpose of valuation of a property :

1) Assessment of different Taxes 2) Fixation of Rent
3) Security for Loans or Mortgage 4) Rate Analysis

TR : 9Y4) IET 311 SRaroRieror

-9 3-3 8- 4-19 &—1 V-3 -9 R-9 90-3
QR-3 Pi3-3 98- 94-3 %-19 QM9- -3 R-9 20-9
RR-Y
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